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1. Explain the difference between the correlation coefficient, correlation ratio and coefficient of
determination (40 20)
2. Why is R? greater than or equal to (Zero) and less than or equal to (One)?  (ix, 20)
[4202 100]J13d) A2 )3 3 G J) gl
Below is a scatter plot of data on Carbon Dioxide (COz) in ambient air and Health Expenditures ($)
in selected countries (Ieﬂ) and another scatter plot of same countrles on COz and Poverty (%).
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Using the above plots deduce the relationships, and then construct a problem tree (60 pt.).

1.
2. Next, introduce your policy recommendations and (20 pt.)
3. Planning implications (20 pt.)
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1. Kevin Lynch devised five elements as tools to examine the Image of the City. Gordon Cullen
introduced eight elements as tools to examine Townscaping. In your opinion, are Lynch'’s tools

and those of Cullen’s complement or substitutes, and why. (A2 30)
2. Planning models support decision making. One of the major steps of using a model is to
calibrate it. How do you calibrate a model? (A= 15)
3. Are demographic and economic models used in the planning process as complements or
substitute? Why? . (A= 15)
iy clbdadl) u.nb/_,r.a
AN d8agtial) diaydeilh Gila Al (udfy Claial) 138
S A JaY) Jipeall 3
| D2.1]cCi111]B.61 | Ad0.1 |D41]C51]| A41 | D21 |D31]c21|BlLl]A4l[ALL] |
il Yl o el 2, Sl &l el el 3yl e il
(Bua a3 Ol dgana o] A olais daaf of dpalall Lo Juagd




